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I Semesler
(c.B.c.s.s. -

B.B.A./B3}dr.r.H 6rS.l.(n.t.ra.) oesree
Supplementary) Examination, November 2021

(2015-2018 Admissions)

Complementary Course
1 C0l BBA/BBA(TTM)/BBA(RTM) : BUSINESS STATISTICS

SECTION - A

Answer ih-" 4 quesiio.s Each qlesiion catr es % rnarks

1. whd is;n arribule ?

2 Whal is a lhrnelic mean ?

4. What do you mean by seasonal eflecls ?

st-.T o\ - B

Answer any 4 queslons. Each queslon cades 1 mark

5 Whal is sarnpling ? What are the melhods ol sampling ?

6. Whal are lhe types ol measures ol cenlral lendency ?

7 Whal are lhe mathernalical melhods oi measuring correlal on between two

L Which are the major conrponents oltime seies ?

9 Whal are the melhods ol collectinq dala ?

10 Explain secL arirend
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Answer any six queslons Each queslon carries 3 marl<s

11. Find the arithmetic rnean oilhe iollowing nunbers:

5 8, 10 15 24and28

12. Find the rnedian oi lhe io lowing seres.

77.73,72, Ta 75 79,74

1 3 Draw a hlstogram lo represenl the lollow ng dislribltion :

weighr 90 100 100.110 110-120 120 130 130 140

500 700 100 400 100

14. Find Kar Pearson's coetiicienl ol correlal on lrom lhe iolowing :

Xr2 3 4 5 6 7 I
Y:4 5 6 I 9 714

15. Find lhe coenic enl oi co € alion ircm the lollow ng dala:

Xr1 2 3 4 5 6 7

Y r 6 I 11 9 12 10 14

16. Delerrniie medan lrom lhe iollowing dislrbution :

Wages : 20 21 22 23 24 25 26 27 28

8 l0 lr 16 2A 2. 19 9 6

I 7. FroF lhe lollowlng lind 1lr ree yearly weighled moving average laking 1 . 2, 3

Years:1234567
Sales(lakhs) 1 2 3 4 s 6 7

1 8. Whal are lhe bases lor classificat on of dala ?
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SECTION D

Answe.any two queslions. Each queslion carries 8 marks.

19. Whal are lhe various types ot g€phs used lor preseniing a trequency

dislrbution ? Explain irs vaious methods that are used lor g.aphicat

represeniaiion otlrcquencydstribulion.

20. The lolow ng dala re ale lo annua ptoduclion in a tertilizeriacrory (in rhousand

Year 1977 1978 1979 1980 1981 1982 1983

Produclion : 70 75 90 91 95 98 100

i) Fit a linear trend by ihe melhod ot easl squares and estimale lhe trend

) Convertlhe annuallrend equaron to monlhly lrend equalion.

21. DetermineO D andCoell.oiO.D lorthe lollowing dara:

Weight 30 34 35 39 40-44 45-49 50 54

No. of boys r 5 11 26 1A I


